Chapter 11 Problem II (+1)




Name _____________________

Show all work to receive full credit!

11. A student mixed 50.0 mL of water containing 0.50 mol HCl at 22.5 (C with 50.0 mL of water containing 0.50 mol NaOH at 22.5 (C in a foam cup calorimeter.  The temperature of the resulting solution increased to 26.0 (C. How much heat in kJ was released by this reaction?

12. A small pebble is heated and placed in a foam cup calorimeter containing 25.0 mL of water at 25.0 (C.  The water reaches a maximum temperature of 26.4 (C. How many joules of heat were released by the pebble?

13. When carbon disulfide is formed from its elements, heat is absorbed.  Calculate the amount of heat (in kJ) absorbed when 5.66 g of carbon disulfide is formed.

C(s) + 2 S(s) (  CS2 (l)

(H = 89.3 kJ

14. The production of Fe and CO2 from Fe2O3 and CO is an exothermic reaction.  How many kJ of heat are produced when 3.40 mol Fe2O3 reacts with an excess of CO?

Fe2O3 + 3 CO (  2 Fe + 3 CO2 + 26.3 kJ

15. When 2 mol of solid Mg combines with 1 mol of O​2, 2 mol of MgO is formed and 1204 kJ of heat is released. Write the thermochemical equation for this combustion reaction.

16. How much heat is released when 12.5 g of ethanol burns?

C2H5OH + 3 O2 (  2 CO2 + 3 H2O

(H = -1235 kJ

18. Calculate (H for the conversion of 15.0 g of hydrogen gas from the following equation:
H2 + F2 ( 2 HF

(H = -536 kJ

